MODEL QUESTION PAPER-1
(2022-23)

I PUC ECONOMICS

Time 3.15 Hrs. Max.Marks:100
PART - A
I Choose the correct answer 5x1=5
1. Utility is
a) Objective c) Bothaandb
b) Subjective d) None of the above
2. The government imposing upper limit on the price of goods and services is called
a) Price ceiling c) Price floor
b) Selling price d) None of the above
3. The year of Great Depression

a) 1920 b)1889 c)1929 d) 2018

The bank which acts as monetary authority of India

a) RBI c) RRB

b) NABARD d) IDBI

Consumption which is independent of income is called

a) Induced consumption b) Autonomous consumption
b) Wasteful consumption c) Past consumption

I1 Fill in the blanks 5x1=5

6.

8.
9.

10.

In monopoly market the goods which are sold have no....................
.............. are defined at a particular point of time

............ issues coins in India

Savings is that part of income that is ...........

............ is the record of trade in goods and services and transfer payments

111 Match the following 5x1=5

11.

A B
1. Market Economy a) Dirty Floating
2. SMC b) Perfect information
3. Perfect competition c) Private economy
4. Labour d) ATC/Aq
5. Managed floating e) Wages




IV Answer the following questions in a sentence or a word each. 5x1=5

12.
13.
14.
15.
16.

Give the meaning of Oligopoly Market.
What do you mean by final goods?
Who are free riders?

What are Revenue Receipts?

What is Balance of Payment?

PART -B

V Answer any NINE of the following in 4 sentences each. 9x2=18

17.
18.
19.
20.
21.
22.
23.
24,
25.
26.
27.
28.
29.
30.

What do you mean by inferior goods? Give example.
State the Law of Demand?
What are the differences between budget line and budget set?
Give the meaning of shut down point.
How wage is determined in the Labour market?.
Write the features of Monopoly.
State the meaning of average revenue and marginal revenue.
Distinguish between Stock and flow. Give example..
Write the difference between nominal and real GDP.
Mention the two motives of demand for money.
Write the meaning of investment multiplier. Write its formula.
Write the differences between public provision and public production.
Mention the non-tax revenues of the Central Government.
What is foreign exchange rate?.

PART -C

VI Answer any SEVEN of the following questions in 12 sentences each. 7x4=28

31.

32.
33.
34.

35.
36.
37.
38.
39.
40.
41.

Write a short note on a centrally planned economy.

Write the differences between substitutes and complementary goods.

Explain isoquant with the help of the diagram.

Write a short note on profit maximization of a firm under the following conditions:
(@ P=MC (b) MC must be non-decreasing at qo

Briefly explain in what way Macro Economics is different from Micro economics?

Write a note on externalities.

Explain with examples of planned accumulation and decumulation of inventories.
‘Money acts as a convenient of account’ Explain this sentence with example.
Briefly explain the investment function with the help

Does Public Debt impose a burden? Explain.

Write a note on Balance of Trade.



PART -D

V11 Answer any FOUR of the following questions in 20 sentences each. 4x6=24
42. Explain the law of diminishing marginal utility with the help of a table and diagram.
43. Explain the short run supply curve of a firm with the help of a diagram.
44. Explain the market equilibrium with the fixed number of firms with the help of diagram.
45. Explain the short run equilibrium of a monopolist firm, with the help of the simple case

of zero cost.

46. Write down some of the limitations of using GDP as an index of welfare of a country.
47. Write the story of Gold Smith Lala on the process of deposit and loan (credit).

48. Write a note on the Gold Standard.

PART - E
V111 Answer any two of the following project oriented questions 2x5=10
49. Find the missing products of the following table.

Factor 1 TP MP, AP,

0 0 0 0

1 10 - 10

2 24 - 12

3 40 16 13.33

4 - 10 -

5 - 6 11.2

6 57 1 9.5

50. Prepare a budget on monthly income and expenditure of your family.
51. Name the currencies of any five countries of the following
USA, UK, Germany, Japan, China, Argentina, UAE, Bangladesh, Russia,
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MODEL QUESTION PAPER-2
(2022-23)
Il PUC ECONOMICS

Time 3.15 Hrs. Max.Marks:100

PART - A

I Choose the correct answer 5x1=5

1.

Traditionally, the subject matter of economics has been studied under the following broad
branches.

(@) Micro and macro Economics (b) Positive and Normative

(c) Deductive and Inductive (d) None of the above
In perfect competition buyers and sellers are
a) Price makers c) Price analysts
b) Price takers d) None of the above
In 1936 British economist J.M.Keynes published his celebrated book
a) Wealth of Nations c) General theory of employment, interest and Money.
b) Theory of interest  d) Theory of employment.
The value of GDP at the current prevailing prices is

a) Real GDP ¢) Nominal GDP.

b) GDP at factor cost d) NDP.
The Exchange rate is determined by the market forces of demand and supply is called
a) Fixed Exchange Rate c) Flexible exchange rate
b) Dirty Floating exchange rate d) None of the above

Il Fill in the blanks 5x1=5

7.

8.
9.

10.

In a perfectly competitive market, equilibrium occurs when market demand
............ market supply

Economic exchanges without the use of money are referred toas ..................
Size of multiplier depends on the value of ....................

Non paying users of public goods are known as .............

111 Match the following 5x1=5

11.

A B

6. SAC f) TR-TC

7. @ g) Stock variable

8. Inventory h) Paper Gold

9. Circulation of coin i) Short Run Average Cost
10. SDR j) Government of India




IV Answer the following questions in a sentence or a word each.
12.
13.
14,
15.
16.

V Answer any NINE of the following in 4 sentences each.
17.
18.
19.
20.
21.
22.
23.
24,
25.
26.
27.
28.
29.
30.

VI Answer any SEVEN of the following questions in 12 sentences each.
31

5x1=5
Give the meaning of marginal utility.

What is duopoly?

Write the meaning of autonomous consumption.

What are public goods?

What do you mean by open economy?

PART -B
9x2=18
Mention two different approaches which explain consumer behaiour.
What is monotonic preference?
What are the differences between budget line and budget set.
What do you mean by price elasticity of demand?
Mention the conditions needed for profit by a firm under perfect competition.
Define equilibrium price and quantity.
State the meaning of average revenue and marginal revenue.
Write the meaning of monopolistic competition and given an example.
What are the four factors of production? Mention their rewards.
Mention three methods of measuring GDP.
Give the meanings of CRR and SLR.
Write the meaning of Paradox of Thrift.
Why Public goods must be provided by the Government?
Mention the three linkages of open economy.
PART -C
7x4=28
Briefly explain the central problems of an economy.

32. The following table gives the TP schedule of labour. Find the corresponding Average

33.
34.

35.
36.
37.
38.
39.
40.
41.

product and marginal product schedules.

TP 0 15 35 50 40

48

L 0 1 2 3 4

5

Explain the determinants of a firm’s supply curve.

Explain the role of the Government (State) and household sector in both developed and

developing countries.

Ilustrate unplanned accumulation and decumulation of inventories with an example.

Explain the circular flow of income of an economy.

Write a brief note on transaction motive and speculative motives of demand for money.

Briefly explain the consumption function.

Write the chart of Government Budget.

Does Public Debt impose a burden? Explain.

State the merits and demerits of flexible and fixed exchange rate system.




PART -D

V11 Answer any FOUR of the following questions in 20 sentences each. 4x6=24

42.

43.
44,

45.

46.
471.

48.

Explain the features of indifference curves with the help of diagrams.
Explain market supply curve with the help of diagram.
Explain the short run equilibrium of a monopolist firm, when the cost of production is
positive by using TR and TC curves with the help of diagram.
Suppose the demand and supply curves of wheat are given by
q°=200-P and g°=120+P
a) Find the equilibrium price
b) Find the equilibrium gquantity of demand and supply
c) Find the quantity of demand and supply when P is greater than equilibrium price
d) Find the quantity of demand and supply when P is lesser than equilibrium price.
Explain the macro economic identities.
Explain the functions of money?. How does money overcome the short comings of a
barter system?
Write a note on Balance of Payment
PART - E

V111 Answer any two of the following project oriented questions 2x5=10

49,

a)
b)
c)
d)
e)
50.

51.

A consumer wants to consume two goods. The Price of bananas is Rs.5 and price of
mangoes is Rs.10. The consumer income is Rs.40.

How many bananas can she consume if she spend her entire income on that good?

How many mangoes can she consume if she spend her entire income on that good?

Is the slope of budget line is downward or upward?

Avre the bundles on the budget line equal to the consumers’ income or not?

If you want to have more of banana, you have to give up mangoes. Is it true?

Find the missing products of the following table.

Factor 1 TP MP, AP,
0 0 0 0
1 10 - 10
2 24 - 12
3 40 16 13.33
4 - 10 -
5 - 6 11.2
6 57 1 9.5

Name the currencies of any five countries of the following
USA, UK, Germany, Japan, China, Argentina, UAE, Bangladesh, Russia,
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